© 2024 Hansa Armaturen GmbH - www.hansa.com - 16.04.2024

08609175 HANSAMIX - Fertigset fiir Brause-Batterie

EAN: 4015474077973

static.hansa.com/08609175

Ersatzteile
SP08609175
Name Art.-Nr.

1 Rosette, d 205 mm Chrom 59911969
11 Abdeckkappe Gold 59911569
11 Abdeckkappe Chrom 59911564
13 Schraube, M5x65 Chrom 59904847
13 Schraube, M5x65 Weiss 59906672
13 Schraube, M5x65 Gold 59904849
15 Gummidichtung 59912232
16 0-Ring, 55x2 59912543
3 Temperatur-Wahlgriff Weiss  [[NSSaENIAM 59910306
3 Temperatureinstellgriff Chrom 59910304
31 Schraube, M6x9.5 59901609
32 Blindstopfen Chrom 59911840
33 Anschlagstift 59912005
N.I. Verlangerungssatz, 35 mm 59912459

1


https://static.hansa.com/08609175

